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2,078,783 3,321,277 A1,242,494
HAETId=A (= 1,000,000]
[ 1,078,783]
HAEFY 2449 XY 513,908 873,000 A 359,092
HHEg 3 fX] 475,000 825,000 A 350,000
203 JF-F71H] 25,000 25,000 0
03 A AFAPFE =711 25,000 25,000
OHA=TI A=A 25,000,000 = 25,000
307 Wkol A 450,000 800,000 A350,000
04 WZFPALRZ 450,000 800,000 A 350,000
OMA A =T33~ F 0] 3]
200,000,000 = 13] = 200,000
OHdA=AddA 3137t 3]
150,000,0009 * 13] = 150,000
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50,000,000 * 13] = 50,000
OHA=T el d =]
50,000,000 %13] = 50,000
HEEZAnEy 12,000 28,000 216,000
301 WA 12,000 12,000 0
07 W7ol 9ol n) 12,000 12,000
ORIZFel = 2] oy
3,000,000 = 2/ * 23] = 12,000
TdPg o 7]1EAN| 26,908 20,000 6,908
201 Aur-g-<H] 12,408 10,000 2,408
01 AHF-#2H] 12,408 10,000 2,408
OF A Ik 12,408
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01 =ujedu] 14,500 10,000 4,500
OF 9 oin 14,500
1 7 HAa= 245 274,560 180,080 94,480
AT AN F319] 58,960 54,480 4,480
201 Dk H| 8,960 4,480 4,480
01 AHFF2H| 8,960 4,480 4,480
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70,0009 * 327 x 457 8,960
307 Wlzkol 50,000 50,000 0
02 WA SRz 50,000 50,000
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A= NA $A4 20,000 20,000 0
307 F17ko] A 20,000 20,000 0
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OYF-Fa HAEA 3
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401 A]Adu] L R gjn]
(= 1,000,000]
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EFUAAE S 101,700 134,197 A32,497
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201 YR 52,600 81,600 229,000
01 AFF-#e]H] 47,800 78,000 230,200
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OAdgd #HAJE =4 300,000¢1 *23] = 600
OAG AT A 50,0009 = 33] = 207} = 3,000
02 FFegn 4,800 3,600 1,200
OAYY A= 400,000 * 129 = 4,800
Hax AYYH 232 24X 25,000 0 25,000
401 Al R oin) 25,000 0 25,000
04 AJAH] 25,000 0 25,000
OHA=MNEEH 2F EHA
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LR gy TEd 9 7,600 6,600 1,000
201 LWk 7,600 6,600 1,000
01 AHFE#En| 4,000 3,000 1,000
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AETY TH 98,200 39,000 59,200
HAETY 7F 585 98,200 39,000 59,200
201 ARk H| 88,200 39,000 49,200
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OZRE A =] 42,000
=25 A= 3,200¢) * 2,500% % 4% = 32,000
—CD, DVD A & 2,000¢) * 5,0007] = 10,000
OFHE& /MEe 9% 4
500,000 * 2 = 1,000
O&F A= 100,0009) = 1071 *103] = 10,000
405 A4 5] 10,000 0 10,000
01 AAEEFHSH] 10,000 0 10,000
Ools2 HAIF-2= A&
10,000,000 *14] = 10,000
AN (A ETLFAE) 8,856 13,120 A4, 264
7] 374 1] 8,856 13,120 A4, 264
A 717N 8,856 13,120 A4, 264
201 Gk H| 4,536 10,000 A5, 464
01 AHFF2H| 4,536 10,000 A5, 464
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01 ol 4,320 3,120 1,200
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